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آزمون پایان  ترمِ درس ترمودینامیک و مکانیک آماری ٣ (آزمونِ در خانه) 

توجه:  
١. نام و نام خانوادگی و شمارەی دانشجویی تان را در صفحەی اول پاسخ نامە بنویسید.  

٢. تلاش کنید پاسخ ها را با خطی خوانا و نگارشی ساده بنویسید. طبیعی است که اگر پاسخی خوانا نباشد تصحیح نمی شود، و 
اعتراضی از این بابت پذیرفتە نمی شود.  

٣. فرض ها و نتیجەهای فرعی را که در حل هر مسئله به کار می برید بەروشنی بیان کنید. دقت کنید که اگر لازم باشد، بایستی 
ضمنیِ  فرض های  با  تلگرافی  یا  فشرده  بسیار  پاسخ های  بیاورید.  نیز  را  نتیجەها  آن  از  برخی  اثبات  طرح  دست کِم  یا  اثبات 
غیرشفاف و بدون توضیحِ کافی نمره از دست می دهند. ملاکِ تصحیح و نمرەدادن به یک پاسخ تنها آن چیزی است که در 
پاسخ نامه نوشتە اید، و ادعاها و توضیحاتِ تکمیلیِ پس از آزمون وارد نیست. بنابراین توصیه می شود هر آن چه را که در پاسخ به 

یک مسئله در نظر داشتەاید بەروشنی و با شرحِ کافی بنویسید. 
۴. همەی مسئلەها هم نمرەاند. تنها به ٢ مسئلە به انتخاب خود پاسخ دهید (بەجز این که انتخابِ  تنها یکی از مسئلەهای دوم و 

سوم مجُاز است، نه انتخابِ هر دو). شمارەی این مسئلەها را در برگەی اول پاسخ نامه بنویسید.  
۵. استفاده از کتاب های درسی و درس نامەها برای یادآوری مطالب یا فرمول های اصلی آزاد است، اما نباید پاسخ مسئلەای را از 
آن ها رونویسی یا اقتباس کرد. با توجه به این نکته، اگر از برخی از نتایجِ منابعی جز کتاب های درسیِ اصلی استفاده  می کنید، به 
آن ها ارجاعِ مناسب بدهید (مثلاً نام مرجع و شمارەی صفحه). فرض بر این است که در پاسخ نامەتان نتیجەی تفکر، تلاش، و 
محاسبات خودتان را می نویسید، نه رونوشتی از نتایجِ دیگران یا حاصلِ مشورت با آن ها را. همەی دانشجویان ملزم به رعایت 

کاملِ اصول حرفەای و آداب شرکت در آزمون های غیرحضوری هستند.  
۶. نسخەای الکترونیکی و تا حدِ ممکن کم حجم از پاسخ نامەتان را (بەصورتِ تایپ شده یا دست نویسِ اِسکن شدەای در قالب 
من  ای میلِ  آدرس  به  دانشگاهی تان  رسمی ِ  ای  میلِ  آدرس  از  عصر   ۶:٣٠ ساعت  از  پیش  تا   (pdf فایلِ  یک 

(rezakhani@sharif.edu) بفرستید. انتظار می رود که این فایل کیفیتِ قابلِ قبولی داشتەباشد. 
٧. تنها یک فایل از هر دانشجو پذیرفته می شود. لطفاً پاسخ نامەتان را چند بار نفرستید. در غیر این صورت، تنها اولین فایلی که 

از شما دریافت شده پذیرفته می شود.  
٨. در برنامەریزیِ زمانی برای آمادەکردن و فرستادنِ فایلِ پاسخ نامەها پیش بینی های لازم را بکنید تا مشکلاتِ تکنیکیِ احتمالی 
منجر به تاخیر نشود. در پنج دقیقەی اولِ تاخیر پنج درصد و در ده دقیقەی بعدی ده درصد از نمرەی کلِ این آزمون بەعنوان 

جریمه کسر می شود. تاخیرِ بیش از پانزده دقیقه نیز بە معنیِ تحویل ندادنِ برگەی پاسخ نامه در نظر گرفته  می شود.  
٩. موعدِ تحویلِ برگەی گزارش پروژه یا تحقیقِ ترمی (term paper) حداکثر تا دو روز پس از تاریخ آخرین آزمونِ این 
نیم سالِ تحصیلی است. توجه کنید که تحقیقِ ترمی حداکثر ١ نمرەی اضافی دارد و طبعاً تحویلِ آن الزامی نیست. علاوه بر این، 

تحویلِ تحقیقِ ترمی بەخودیِ خود نمره ندارد (این تحقیق بایستی کیفیتِ قابل ِقبولی هم داشتەباشد). 
١٠. قاعدەی محاسبەی نمرەی نهایی این است: 

 
که این جا  نمرەی آزمونِ میان ترم (از ۴ نمره)،  نمرەی آزمونِ پایان ترم (از ٨ نمره)،  نمرەی تمرین ها و تکلیف های 
درسی (از ٨ نمره)،  نمرەی تمرین های امتیازی (از ٢ نمره)، و  هم نمرەی تحقیقِ ترمی (از ١ نمره) است؛ یعنی نمرەی 

نهایی از ٢٣ سنجیده می شود.  
١١. تندرست و پیروز باشید. 

M + F + H + B + T,
MFH

BT
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—مسئلەی اول: 

 

—مسئلەی دوم: 

—مسئلەی سوم:
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—مسئلەی چهارم: 

Prove one of the Yang-Lee theorems. 

 —مسئلەی پنجم:
 

 

 

 —مسئلەی ششم:
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Problems 15

single variable !i = ±1 (an Ising spin). The energy of a configuration "!i# of spins
is then given by

! = 1
2

N∑

i$j=1

Jij!i!j −h
∑

i

!i%

where h is an external magnetic field, and Jij is the interaction energy between
spins at sites i and j.

(a) For N spins we make the drastic approximation that the interaction between
all spins is the same, and Jij = −J/N (the equivalent neighbor model). Show
that the energy can now be written as E&M$h' = −N(Jm2/2 + hm), with a
magnetization m =∑N

i=1 !i/N = M/N .
(b) Show that the partition function Z&h$T ' =∑

"!i#
exp&−*! ' can be rewritten as

Z =∑
M exp(−*F&m$h'); with F&m$h' easily calculated by analogy to problem

(1). For the remainder of the problem work only with F&m$h' expanded to
fourth order in m.

(c) By saddle point integration show that the actual free energy F&h$T ' =
−kBT ln Z&h$T ' is given by F&h$T ' = min(F&m$h')m. When is the saddle
point method valid? Note that F&m$h' is an analytic function but not convex for
T < Tc, while the true free energy F&h$T ' is convex but becomes non-analytic
due to the minimization.

(d) For h = 0 find the critical temperature Tc below which spontaneous magneti-
zation appears; and calculate the magnetization m&T ' in the low temperature
phase.

(e) Calculate the singular (non-analytic) behavior of the response functions

C = +E

+T

∣∣∣∣
h=0

$ and , = +m

+h

∣∣∣∣
h=0

-

3. The lattice-gas model: Consider a gas of particles subject to a Hamiltonian

! =
N∑

i=1

"pi
2

2m
+ 1

2

∑

i$j

" &"ri −"rj'$ in a volume V-

(a) Show that the grand partition function . can be written as

. =
#∑

N=0

1
N !

(
e*/

03

)N ∫ N∏

i=1

d3"ri exp

[

−*

2

∑

i$j

" &"ri −"rj'

]

-

(b) The volume V is now subdivided into # = V/a3 cells of volume a3, with
the spacing a chosen small enough so that each cell 1 is either empty or
occupied by one particle; i.e. the cell occupation number n1 is restricted to 0 or
1 &1 = 1$ 2$ · · · $# '- After approximating the integrals

∫
d3"r by sums a3∑#

1=1,
show that

. ≈
∑

"n1=0$1#

(
e*/a3

03

)∑
1 n1

exp

[

−*

2

#∑

1$*=1

n1n*" &"r1 −"r*'

]

-
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88 Kinetic theory of gases

(d) A “coarse-grained” density !̃ is obtained by ignoring variations of ! below some
small resolution in the "q#p$ plane; for example, by averaging ! over cells of the
resolution area. Find !̃"q#p$ for the situation in part (c), and show that it is stationary.

∗∗∗∗∗∗∗∗

2. Evolution of entropy: the normalized ensemble density is a probability in the phase space
% . This probability has an associated entropy S"t$ = −

∫
d%!"%# t$ ln !"%# t$.

(a) Show that if !"%# t$ satisfies Liouville’s equation for a Hamiltonian ! , dS/dt = 0.

(b) Using the method of Lagrange multipliers, find the function !max"%$ that maxi-
mizes the functional S&!', subject to the constraint of fixed average energy, #!$ =∫

d%!! = E.

(c) Show that the solution to part (b) is stationary, that is, (!max/(t = 0.

(d) How can one reconcile the result in (a) with the observed increase in entropy as
the system approaches the equilibrium density in (b)? (Hint. Think of the situation
encountered in the previous problem.)

∗∗∗∗∗∗∗∗

3. The Vlasov equation is obtained in the limit of high particle density n = N/V , or large

interparticle interaction range ), such that n)3 % 1. In this limit, the collision terms are

dropped from the left-hand side of the equations in the BBGKY hierarchy.

The BBGKY hierarchy

[
(

(t
+

s∑

n=1

&pn

m
· (U

(qn

−
s∑

n=1

(
(U

&qn

+
∑

l

(" "&qn − &ql$

&qn

)

· (

&pn

]

fs

=
s∑

n=1

∫
dVs+1

(" "&qn − &qs+1$

&qn

· (fs+1

(&pn

has the characteristic time scales






1
*U

∼ (U

(&q · (

(&p ∼ v

L
#

1
*c

∼ ("

(&q · (

(&p ∼ v

)
#

1
*×

∼
∫

dx
("

&q · (

&p
fs+1

fs

∼ 1
*c

·n)3#

where n)3 is the number of particles within the interaction range ), and v is a typical
velocity. The Boltzmann equation is obtained in the dilute limit, n)3 ) 1, by disregarding
terms of order 1/*× ) 1/*c. The Vlasov equation is obtained in the dense limit of
n)3 % 1 by ignoring terms of order 1/*c ) 1/*×.

(a) Assume that the N -body density is a product of one-particle densities, that is, ! =
∏N

i=1 !1"xi# t$, where xi ≡
(
&pi# &qi

)
. Calculate the densities fs , and their normalizations.

Problems 89

(b) Show that once the collision terms are eliminated, all the equations in the BBGKY

hierarchy are equivalent to the single equation
[

!

!t
+ !p

m
· !

!!q − !Ueff

!!q · !

!!p

]
f1"!p# !q# t$ = 0#

where

Ueff"!q# t$ = U"!q $+
∫

dx′! "!q − !q ′$f1"x′# t$%

(c) Now consider N particles confined to a box of volume V , with no addi-
tional potential. Show that f1"!q# !p $ = g"!p $/V is a stationary solution to the
Vlasov equation for any g"!p $. Why is there no relaxation toward equilibrium for
g"!p $?

∗∗∗∗∗∗∗∗

4. Two-component plasma: consider a neutral mixture of N ions of charge +e and mass
m+, and N electrons of charge −e and mass m−, in a volume V = N/n0.

(a) Show that the Vlasov equations for this two-component system are





[
!

!t
+ !p

m+
· !

!!q + e
!&eff

!!q · !

!!p

]
f+"!p# !q# t$ = 0

[
!

!t
+ !p

m−
· !

!!q − e
!&eff

!!q · !

!!p

]
f−"!p# !q# t$ = 0

#

where the effective Coulomb potential is given by

&eff"!q# t$ = &ext"!q $+ e
∫

dx′C"!q − !q ′$
[
f+"x′# t$−f−"x′# t$

]
%

Here, &ext is the potential set up by the external charges, and the Coulomb potential
C"!q $ satisfies the differential equation '2C = 4()3"!q $.

(b) Assume that the one-particle densities have the stationary forms f± = g±"!p $n±"!q $.

Show that the effective potential satisfies the equation

'2&eff = 4(*ext +4(e
(
n+"!q $−n−"!q $

)
#

where *ext is the external charge density.

(c) Further assuming that the densities relax to the equilibrium Boltzmann weights

n±"!q $ = n0 exp
[
±+e&eff"!q$

]
leads to the self-consistency condition

'2&eff = 4(
[
*ext +n0e

(
e+e&eff − e−+e&eff

)]
#

known as the Poisson–Boltzmann equation. Due to its non-linear form, it is generally

not possible to solve the Poisson–Boltzmann equation. By linearizing the exponen-

tials, one obtains the simpler Debye equation

'2&eff = 4(*ext +&eff/,2%

Give the expression for the Debye screening length ,.


